
<signalIS id="02" belongsToParent="01"…>

<isTrainMovementSignal type="main"> 

<typeDesignator register="TJN" entry="§8.12"

</signalIS>

<signalIS id="03" belongsToParent="01"…>

<isTrainMovementSignal type="distant"> 

<typeDesignator register="TJN" entry="§8.14"

</signalIS>

<signalIS id="04" belongsToParent="01"…>

<isTrainMovementSignal type=«shunting"> 

<typeDesignator register="TJN" entry="§8.23"

</signalIS>

<signalIS id="01" absPos="23425"> 

<signalConstruction type="light" mountedOn="pole">

</signalIS>

Black text = current

Red text = extention in railML3.3 issue #533

Green Text = extension in railML3.3 (Forum: t=msg&th=937&start=0&)

Signal model combined with new extentions for basic type and mounting

<signalIL id="05" function="intermediateSignal"…>

<refersTo ref="02">

</signalIL>

<signalIL id="06" function="distant" ...>

<refersTo ref="03">

</signalIL>

<signalIL id="07" function="shunting" ...>

<refersTo ref="04">

</signalIL>


